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afaft | anuefined #1U Sanm | anueiimes dav | naw | usefia | s
AUaNYV0Y Pitot (cm) (cm) naaes | Amsa 301
1 oan i oon ® | affa®™) | (rpm)
Naau | Naaw
1 9.23 8.4 8.7 9.23 5 24 1483
2 9.3 8.6 8.63 9.36 5 24 1482
3 9.33 8.73 8.56 9.5 5 24 1481
4 9.4 8.8 8.5 9.56 5 2.4 1481
L 5 9.4 8.9 8.43 9.63 5 2.4 1483
L 6 9.46 89 8.43 9.66 5 2.4 1480
7 9.46 9.0 8.36 9.7 5 2.4 1481
8 9.46 9.0 8.33 9.76 5 24 1481 7
9 9.46 9.0 8.3 9.8 5 24 1481 7
10 9.5 9.1 8.3 9.8 5 2.4 1482 ‘}
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HANISNARDINTIN 1

H = 0083m
p, = 780kgm’
p. = 1.2 kg/m’
g = 98IN
NGRS y2 = 2xp xgxH)
¥ (p, x1000)
V2= (2x780x9.81x0.083)
(1.2x1000)
= 1.0585 m’/s’
V = 1.0288 m/s
A = 000533 m’
= 1.0288 m/s
MMYAT Q = AxXV
=~ 0.00533 x 1.0288
~ 0.005484 m’/s
Hi = 0.053m
sinB = 0.707
Y. = 0.78 N'm®
vngas AP=  Hi X sinOxy,
= 0.053 x 0.7071x0.78
= 0.0292 mH,0
mlasmiag = (0:0292x107101.3x107)
10.34
AP = 0286 Pa
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VINGAT W,

NNFAT W,

NNYAT

Apr

i

77:

0.001568

0.005484 m’/s

0.286 Pa

Q x Ap
0.005484 x 0.286
0.001568 N.m/sec

24N
023 m
1483 rpm
3.14
Frx2zn

60
(24x0.23)x (2x3.14x1483)

60
85.68 N.m/sec

A\

o

W.

1

x100%
85.68

0.00183 %

.................................
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HANTNAABINTIN 2

H = 007m
p, = 780 kg/m’
p, = 12 kym’
g = 98IN
VINGAS 2 _(2xp xgxH)
) (p, x1000)
v2 - (2x780x9.81x0.07)
(1.2x1000)
= 0.8927 m'/s’
V = 0.9448 m/s
A = 001066 m’
V = 09448 m/s

NPAT Q = AxXV

0.01066 x 0.9448
0.010072 m’/s

Hi = 0073 m
sin@ = 0.7071
Y, = 0.78 N/m’

nngas AP=  Hi X SinOxYy,,
= 0.073 x 0.7071x0.78

= 0.0403 m H,0

' 3 3
wlaswiune (0.0403x10~ 101.3x107)

10.34
AP = 0395 Pa

.................................

.................................
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VNYAT W, =

1INYAI W,

NNGAI

77:

0.003978

0.010072 m'/s

0.395 Pa

Q xAp
0.010072 x 0.395
0.003978 N.mv/sec

24N
023 m
1482 rpm
3.14
Frx2zn

60
(24x0.23)x(2x3.14x1482)

60
85.62 N.m/sec

W,

o

W,

x 100%
85.62

0.004646 %
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